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& State ¢ Equity.
om Statyto € general principles which, apart
"1810nsi ry provisions, or any special pro-
Bove, 1 the instrument creating the trust,
O gor . OUIts of Equity 1n determining whether

a
appl; _Purchaser of land is bound to see to the

Ca
fr.(, :"tn of the purchase money when buying
Visig, a e“{Stee. Is there any statutory pro-
W2 hd:tmg the same? If so, what ?
ay en" what circumstances would a tenant
Raing( ). able to file a bill of interpleader
. ils landlord? Reasons.
Conta; 'silessee of farm Blackacre. The lease
Can Purc Pre-emption clause under which A-
:10ti‘ ef"‘Se the freehold by giving two months
he m ao"e the term expires, and by tendering
I‘q“il’ed t?reed on. He gives the notice at the
:sso re ume’ but fails to pay the money. The
he lesSee SES‘ to carry out the contract, and A+
Ange, az rings an action for specific perform-
, iSti: he succeed? Explain.
hnerestraimg“‘sh bet'ween the effect of conditions
wa‘QSt OveOf marriage ; (1) where there is 2
flt 5 (2 Tin default of condition complied
at.he Where there is no bequest over.
.Sal(‘jt Z:leaths a legacy to his daughter to be
a'ltxl thay at 21 years if she does not marry
Re, ilﬁ’el'lod. She marries at 20 years of
oS Aig t;he be entitled to legacy > Explain.
o Se, bt € executor of B., he writes to a sup-
a or, C., demanding payment of $1,000.

* P
te ys the
l:‘blnes themoney' afld A., the executor, dis-
a same with other moneys to the

Ces
| Ccove tl:‘:tder the will. C. subsequently dis-
}.:" he rees he had previously paid the debt-
" % ha ver same from the executor, and if
%hay;’ 88 the executor any remedys. If 5O

6. A. and B. are about to ntermarry, a parol
agreement is entered into between them, that
A, the intended husband, will settle certain
property on his intended wife, B. After mar-
riage a settlement is executed in pursuance of
such parol agreement. The husband being
indebted at the time, and afterwards becoming
insolvent, the creditors seek to have the settle-
ment set aside. Should they succeed? Ex-
plain,

7. Distinguish between the relief granted in
cases of defective executions of powers. (a)
Where the same are created by private parties.
() Where they are specially created by statute.

8. A., as executor of the estate of B., is liable
as such to certain covenants contained in a
lease made to B.—he is about to assign the
lease to C. —what steps should he take in order
to be able to proceed to distribute the personal
estate of B., without any liability to himself?
Reasons for answer.

9. A. and B. are joint obligors on a bond to
C." The condition on the bond has been broken,
and the right of C. to sue thereon becomes
absolute. Before action brought B. dies. State
C.s rights, giving reason for your answer. '

1o. A Guarantee Company enter into bonds
for the good conduct and honesty of A., a ledger
keeper in the Bank of Toronto, Sometime
after, and during the pendency of the bond, A.
is promoted to the local management at Guelph.
In such capacity he embezzles a considerable
sum of money. The bank sues the Guarantee
Company who defend the action. Who should
succeed, and why?

Conlracts-——Ew'dem'e~5tatute.r——Ho/zor.c.

I. A.makes a proposal to B., which B.does not
answer until after a delay of some months, and
does not then assent to, but some months after-
wards does accede to the proposal. How faris
this evidence of a contract ? Why ?

2. A. has a horse to sell. He agrees to let B.
have him for $1730 if he likes him, and B. is to
keep him a month on trial. B. takes him
and keeps him for a fortnight. B. then tells A.
be is not satisfied. A. then says, “ Return the
horse.” B. keeps him ten days longer, and then
returns him. A. refuses to receive the horse,
and brings an action for the $130. Should he
succeed? Why?

3. A. makes an offer by letter to B. B.

answers in such a way that the answer, though



